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0-0002

X1000
Y1EO1 1
1
Y1EO111 2
1
Y1E0111013
1
( ) YLE011101401
5
(Gr) SS0001Q20
A, B, C( 2 m)
5 0 -0001
Y1E0111053
1
Y1E011105401
29

29

SDT00006Q

0O -0002




0-0003

Y1E011105401

6
( ) sSDT000G@®G
6 0O -0003
Y1E011105402
,t=15cm
16
SPK19080309
15cm
16 0 -00014
Y1EO011105403
,t=15cm
33
SPK19080308
15cm
33 0 -0005
Y1EO01110540 4
35
4
SPK19080001
5,000m3
1 0O -0006
SPK19080002
(
DI D 3.0km (2.0km )

0O -0007




0-0004

#0041

FO0O02 00

1
Y1LE01110540 8
3
S0180 00O
3 0O -0008
Y1LE0111073
1
Y1EO01110740 2
400mm
5
(B ) SPK19080087
400mm
5 0O -0009
Y1EO0111153
1
Y1E011115401
Co( )

29




0-0005

SPK190080148

Co( )
DI D 7.5km 6.5km )
29 0O -0010
Y1EO011115401
Co ( )
6
SPK19080148
Co( )
DI D 7.5km 6.5km )
6 0O -0010
Y1EO011115401
As
2
SPK19080148
( ,
DI D 11.5km (6.5km )
2 0O -0011
Y1EO011115402
Co ( )
29
#0041
FOOO5NO0O
68
Y1EO011115402
Co( )
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#0041
FO9005S00
14 t
Y1EO011115402
2 m3
#0041
FO9O006 00O
4 t
Y1EO011115403
1
SPK19080419
2t 2t
9. 0km (5.0km )
1 0O -0012
#0041
( H1) T1I00EOOU®
6 mm , 500mm
1,200mm , 1,000k
1.9 t
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Y1EOQ2 1
1
Y1E0203 2
1
Y1E0203043
1
( ) Y1E020304401
RC- 40, 150mm
30
( ) SPK190@80234
150mm 1
RC-40
30 0O -0013
( ) Y1EO020304403
M- 30, 100mm
30
( ) SPK190080236
M- 30
100mm 1
30 O -0014
( ) Y1E020304405
(20), t=50mm
3.0m
30
( ) SPK19080241
3.0m
1 50mm
30 0O -0015




0-0008

( ) Y1EO020304409
(20), t=50mm
3.0m
30
( ) SPK19080243
3.0m
1 50mm
30 0O -0016
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1
Y1E0203033
1
Y1E020303401
38
( ) SS0002800
[ 1]200m2
38 0O -0017
TTPCOOORY9
@18 mm
35
F2000000021
HDZ35
8

VP40 L=0.95m

F2000000022




0-0009

F2000000023

VP40 L=0.54m
2
F20000000214
VP40 L=1.01m
4
THOO7282
5mmx 35mm
( ) SS
35
Y1E0203043
1
( ) Y1E0203044009
(20), t =80 mm
1.4m 3.0m
38
( ) SPK190080243
1.4m 3.0m
1 40mm
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38 0O -0019
Y1EO03050240 4
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1
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0 -0020
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Y1E0204033

(B ) Y1LE02040340 2
400mm 180°
(B ) SPK19080087
400mm 180°
1
0O -0021
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400mm 360°
1
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175%x3.5

0O -0027

SD295A_D13
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[ 110t
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Y1EO4 1

PC
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Y1E0403013
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H=450mm

F2000000001
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15.14 H=450mm

F2000000002

1
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L=15.14 H=45
2
F2000000004
15.14 H=450mm
1
Y1E0403053
1
Y1EO04030540 1
) S-2
7 m
S307008@6
7 m 0O -0030
) S-2 T23702080
tel5mm, n2
mmx 1000 mm)
7 (. m)
G3112> TO173 0O
10
kg/ m
50 k g
) T2021 0O
0. 1ni3




0-0014

, M42D
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M42D*880 ST-SGN12
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F2000000006
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( ) T2021 00
. On63
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vooo1l 0O

0O -0031




0-0015

Y1E0403083

1
Y1LE04030840 2
30, 12, 20(25)
W/ Cc(55 ), ( )
2
S3234 00
2 0 -0032
PC Y1LE040308403
(1S17.8)
28
S3240 00
( )
28 0 -0034
Y1LE04030840 4
1S17.8, CCL
8
S3316 00
390kN (1S17.8)
8 0 -0035
ccCL ( ) T2531 00
(1-T17.8)
16

(
(1-T17.8)
( )

16

T2555 00




0-0016

S3246 00

1 0O -0036
Y1LE040308405
30
( S3249 00
30 0O -0037
Y1LEO411 2
1
Y1LEO0411013
1
Y1LE041101401
35mm
4
SS000100
4 . 0O -003s8
THOO60064
NI T -35( )
35mm
4

F2000000013




0-0017

Y1E041101401

20mm
( SS000100
0O -003s8
THOO060G80
NI T -20( )
20mm
F2000000013
Y1LEO0411023
Y1LE041102401
50*100
SPK19080296
( )
0O -0039
F2000000020
STKR400
SS400

Y1E0411033




0-0018

Y1E041103401

W=600
30
SPK19000150
24-12-25(20) BB
8 m 0 -0040
SPK19000152
37 m 0 -0041
SS000000
SD345_D13
[ 110t
0.51t 0 -0042
Y1LEO0411043
1
Y1E041104401
Gr-C-2B-5
29
F2000000030
Gr-C-2B-5
29
F2000000031
Gr-C-2B-5
29

Y1E0411073




0-0019

, 300x150x15

Y1E041107401

4
SPK19080297
300%x150x15
4 0O -0043
Y1E041107401
, 300x200x%x13
1
SPK19080297
300x200x13
1 0 -00414
Y1EO05 1
1
Y1E0503 2
1
Y1E0503103
1
Y1E05031040 2
80
SPK19080002
(
DI D 3.0km (2.0km )
80 0 -0007




0-0020

80

Y1E05031040 3

#0041

80

FOOO0O1 0O

Y1LEO0505 2

Al
1
Y1LE05050 13
1
Y1LEO05050 140 2
50
SPK190@80015
50 0O -0045
Y1LEO05050 140 2
30
SPK190@80015
1m 2m
30 0O -0046




0-0021

Y1EO05050 140 2

40
SPK19000001
1,000m3
40 0 -0047
( ) SPK190080007
50, 000m3
40 0 -0048

30

Y1E05050 140 3

30

SPK19080019

0 -00409

Y1E05050140 4

23
SPK19080017
23 0 -0050
Y1LE0505073
1

18-8-40BB,t=100

23

Y1LEO05050740 2




0-0022

18-8-40B8B

( )

SPK190080150

2 m 0O -0051
SPK190@80152
2 m 0O -0052
Y1LEO05050740 3
24-12-25(20) BB
58 m
S3080 00O
24-12-20(25)BB
58 m 0O -0053
Y1LEO05050740 4
SD345_D16 D25
2.53
SS00000080
SD345_D16 D25
[ 110t
2.53 0O -0056
Y1LEO05050740 4
SD345_D13
0.22
SS00000080
SD345_D13
[ 110t
0.22 0O -0042

90

Y1LE05050740 5




0-0023

SPK190080152

90 0O -0041
Y1LE05050740 5
175%x3.5
3
S3020008
175%x3.5
3 0O -0027
Y1LE05050740 9
60
S0380 00
60 0O -0057
Y1LEO0505 2
A2
1
Y1E05050 13
1
Y1EO05050 140 2
50

50

SPK190@80015

0O -0058




0-0024

90

Y1EO05050 140 2

90

SPK190@80015

0 -00509

Y1EO05050 140 2

2
SPK19000001
5,000m3
2 0 -0060
( ) SPK190080007
50, 000m3
2 0 -0048
Y1LEO05050 140 2
9
SPK19000001
5,000m3
9 0 -0060
( ) SPK190080007
50, 000m3
9 0 -0048

Y1EO05050 140 2




0-0025

SPK190@80015

Em 20m
2 0O -0061
Y1LEO05050 140 2
10
SPK19080001
(1)
10 0O -0062
SPK190@80015
Em 20m
10 0O -0061
Y1LEO05050 140 2
30
SPK19080001
(rir)
30 0O -0063
SPK190@80015
Em 20m
30 0O -0061
Y1LE05050140 3
60
SPK19080019
1m 4m

60

0O -0064




0-0026

Y1LE050501405

1
SPK190@80016
1 0O -0065
YLE0505073
1
Y1LEO05050 740 2
18-8-40BB,t=100
15 m
SPK190@80150
18-8-40BB
( )
2 m 0O -0051
SPK190@80152
2 m 0O -0052
Y1LEO05050740 3
24-12-25(20) BB,
Co
37 m
SPK190@80150
24-12-25(20) BB
37 m 0O -0066

SD345_D16 D25

. 99

Y1LE05050740 4




0-0027

SS000000©06
SD345_D16 D25
[ 110t
0. 9% O -0056
Y1LEO05050 740 4
SD345_D13
0. 36t
SS000000©06
SD345_D13
[ 110t
0. 36t 0O -0042
Y1LEO05050740 5
6 4 m
SPK19080152
6 4 m 0O -0041
Y1LEO05050740 5
150x3.5
2
S30200Q8
150x3.5
2 0O -0067
Y1LEO05050 740 8
40kN/ m2
4 m
( S10500@Q86
40kN/ m2
40 m3

0O -0068




0-0028

00

Y1LE05050740 9

00

S0380 00

0O -0057

Y1LEO0510 2

1
Y1EO0510013
1
Y1LEO05100 140 2
20
SPK19000015
20 0 -0045
Y1EO05100140 3
10
( ) SPK190080007
50, 000m3
10 0 -0048

Y1E05100140 4




0-0029

SPK19080017

7 0O -0050
Co (Co ) Y1LE0510023
1
Y1E051002401
18-8-40BB, W=681, H=40
9
1 vVO010 0O
1: 0.5, 650
9 0O -0069
Y1EO05100240 6
( ) 60 65cm
1.15t/ m2
28
SPK19080044
( ) 60 65cm
28 0O -0072
( ) SPK19080052
150 50mm
10 0O -0073
( ) Y1EO05100240 8
RC- 40
15
( ) SPK19080052
RC- 40

15

0O -0074




0-0030

( )
t=10mm 9. 8k N/ m

Y1E05100240 9

28
( ) SPK19080054
t=10mm 9. 8k N/ m
28 0O -0075
Y1E05100241 3
18-8-40B8B
7
1 Vo012 00O
7 0O -0076
Y1E05100241 4
18-8-40B8B
1
1
1 Vo014 00O
B=300, H=3300
1 0O -0078
Y1E05100241 4
18-8-40B8B
2
1
2 Vo015 00O
B=300,H=2930(2940)
1 0O -0080
Y3999 3




0-0031

Y4999 4

SDT0000G8

0O -0081

Y1A0101033

Y1A010103401

SPK190080004

0O -0082

Y1A0101063

Y1A01010640 2

SPK190080030

0O -0083

Y1E0510143




0-0032

Y1EO05101 4403

[ 1300m2
8
SS000100
[ 1300m2
8 0 -0084
Y1LEO0510 2
1
Y1EO0510013
1
Y1LEO05100 140 2
60
SPK19000015
60 0 -0045
Y1EO05100140 3
20
( ) SPK190080007
50, 000m3
20 0 -0048

56

Y1E05100140 4




0-0033

SPK19080017

56 0O -0050
Co (Co ) Y1LE0510023
1
Y1E051002401
18-8-40BB, W=547, H=35
24
2 voo11 0O
1: 0.5, 500
24 0O -0085
Y1EO05100240 6
( ) 50cm
0.81t/ m2
74
SPK19080044
( ) 50cm
74 0O -0087
( ) SPK19080052
150 50mm
20 0O -0073
( ) Y1EO05100240 8
RC- 40
38
( ) SPK19080052
RC- 40

38

0O -0074




0-0034

( )

Y1E05100240 9

t=10mm 9. 8k N/ m
74
( ) SPK190@80054
t=10mm 9. 8k N/ m
74 0O -0075
Y1LEO05100241 3
18-8-40BB
24
2 vo013 00O
24 0O -0088
Y1LEO05100 241 4
18-8-40BB
3
0.
3 vo016 00O
B=300, H=1250
1 0O -0089
Y1LEO05100 241 4
18-8-40BB
4
0.
4 vo0o17 00O
B=300, H=1200
1 0O -0094

18-8-40BB

Y1E05100241 4




0-0035

B=300, H=3250

voo18 00O

2 0O -0095
Y1J01 1
1
Y1J0101 2
1
Y1J0101043
1
Y1J010104402
(SY295) L=10m
9m, 9m
72
(50<Nmax 600) S10500Q0
250<Nmax 375 3
(m)_9 (6 )
72 0O -0096
S0454 00
3
(m)_9 (6 )
72 0O -0099
S0458 00
(50 Nmax 600)
1 0O -0102
S0458 00
1 0O -0103




0-0036

3 S0850 00
63
43.2 ¢t 0O -0104
Y1J010104414
13.5t
. SHD100MD®O
13.5t 0O -0105
. SHD100MD®O
13.5t 0O -0106
SHD10OOMD®
7.9t 0O -0107
SHD10OOMD®
2.8t 0O -0108
SPK190080419
2t 2t
9. 0km (5.0km )
1 0 -0109
#0041
( H1) T100EO0O0D®
6 mm , 500mm
1,200mm , 1,000k
0.4 1t




0-0037

Y1J010104419

48
FOO0900Mm001
50
SPK19080002
(
DI 3.0km (2.0km )
40 0O -0007
SHD100O0OT®
48 0O -0110
Y1J010104419
75
SHD100O0S®
6 m 20m
75 0O -0112
Y1J010104419
27
SHD10OMAM
6 m 20m
27 0O -0113

48

Y1J010104419




0-0038

SHD10OOQ®

6 m 20m
48 0O -0113
SPK19080002
(
DI D 3.0km (2.0km )
40 0O -0007
#0041
FO9Oo01 00O
40
Y1J010104421
00
FOOo09000001
00
SPK19080002
(
DI D 3.0km (2.0km )
30 0O -0007
( ) SPK19080004
4. 0m

10, 000m3

00

0O -0114

60

Y1J010104421




0-0039

( )
4. 0m

10, 000m3

60

SPK190080004

0O -0114

60

Y1J010104421

30, 000m3

60

SPK190080001

0O -0115

00

Y1J010104422

5,000m3

00

SPK190080001

0O -0116

DI D 3.0km

.0km )

00

SPK19080002

0O -0007

#0041

00

FOOO0O1 0O

RC-40,t=100mm

51

Y1J010101403




0-0040

RC-40,t=100mm

vio01 0O

51 0O -0117
#0041
FO9OoO01 OO
5
Y1J01010863
1
Y1J010106401
0 40 ( m3/ h)
36
SHD100GT®
1 0O -0119
S10500060
0 40 ( m3/ h)
36 0O -0121
Y1J0101083
1
Y1J010108402
2 2000 mm, 2. mm

20




0-0041

SPK190080098

6 . 2)
2 2000 mm, mm
45 0O -0124
SPK19080098
3 . 1)
2 2000 mm, mm
75 0O -0125
Y1J010108402
2 2000 mm, mm
45
SPK19080098
2 2000 mm, mm
45 0O -0126
Y1J010108402
2000 mm
20
SPK19080098
2000 mm
20 0O -0127
Y1LE0207013
1
Y1LE020701401
_Gr-C-4E
4
(Gr) SS0001Q0
A, B, C( 4 m)

0O -0128




0-0042

SS0001Q20

- _Gr-C-4E
[ 121m
4 0 -0129
Y1J0101153
1
Y1J010115402
1
FOOo09000001
20
SPK19080002
(
DI D 3.0km (2.0km )
00 0O -0007
(RTC ) SHD100O0S
16 0O -0130
SHD10OOMQ®
6 m 20m
16 0O -0113
SPK19080002
(
DI D 3.0km (2.0km )
00 0O -0007

#0041




0-0043

00

FOOO0O1 0O

Y1J0101213

1
Y1J010121401
36
R0O369 00
36
#0020 = )
Z0004
YZZ04 2
1
YZZ04001 3
1

YZZ04001040 1




0-00414

S1000008
(
59. 2km
1 0O -0131
YZZ04001040 3
1
S8115 00
1. 0m3 . 4 m3
1 0O -0136
YZZ04001040 4
79.
( , H ., ) S1000000@
26. 8km
12m
1 0O -0137

Z0019




0-0045




0-0046

( Gr) SS000127 0 -0001
A, B, C( 2 m) 1 m

1.000m

A, B, C( 2 m)
1
1 m

A=2 B=6 A,B,C( 2m)

cC=1 - D=1 -




SDT00031

0

-0002

0-0047

m3

1. 00 M3
1
1 m3

o>
non
[N Y

O ®
non
e




SDT00033

0

-0003

0-0048

m3

1. 00 M3
1
1 m3

o>
non
[N Y

O ®
non
e




SPK19040309 0O -0004
15cm 1 m
6. 42 % 53.37% : 40.21% 0. 00% 547
( ) ( ) ) (
MTPCO0O0O0H6
4., 34 % MTPTO0O00H4H6
20cm 56cm 20cm 56cm

( ) ( ) EKOOO9
RTPC000Q1
18. 48% RTPT000Q1
RTPCO0O00Q9
9. 59% RTPT000Q9
RTPCO0O0O0Q2
8. 00% RTPT000Q2

( ) ( ) EROO0O9
TTPCOOO115
37.36% TTPTO0O0O0115

56cm(22 ) 56cm(22 )

, TTPCOO0OO014
, 1.93% TTPTO00014

( ) ( ) EZ0O09




0-0050
SPK190403009 0O -0004
15cm 1 m
6. 42% : 53.37% : 40.21% : 0.00% 547

( ) ( ) ( ) ( )

EPOO1

m >
i

[N Y

B=1 15cm




mo >
R R R

SPK19040308 0
15cm
81.87% : 8. 03% 0.00%
( )
10. 10% [ ) 1]
0.45m3( 35m3)
29.50%
( )
27 . 77%
24. 60%
1.2
8. 03%
= B=1
= D=1 15cm




.84 %

SPK19040001
5,000m3

C )

49. 10%

32.84%

18. 06%

mo >
o

WMNN

5, 000m3

18.

m
Inn

e




SPK19040002 0 -0007
) DI D 3.0km (2.0km )
48.90% : 36. 46% 14.64% 0.00%
( ) ( ) ( ) ( )
] [ ]
48. 90% 10t
( ) ) ( ( ) )
( )
36. 46 %
1.2
, 2 4KL 14. 64%
A=1 B=1 0. 8m3( 0
c=1 ( ) D=1 DI D
E=7

3.0km (2.0km )

N~




0-0054

S0180 0 -0008
0.250
0.050
, 99. 2. 98Mm3
1. 19R(g
#09
0.1 %
1




(B )

400mm

16. 96%

76 .

SPK19040087

98 %

6 .

06 %

(

0.

( )

45/ 0. 35m3,

1

.9t

12.

) 5 %

0.

(

45/ 0.

9t

)

)

20.

93 %

16.

T0%

14.

29%

. 85%

, 2 4KL

. 63%




0-0056
( B ) SPK19040087 0O -00009
400 mm 1 m
: 16. 96 % : 76. 98 % : 6. 06 % : 0. 00% 3,385

( ) ( ) ( ) ( )

E9999

<>
i

=N

B=5 400mm




SPK19040148
5k

DI D 7. m (6. 5km )
48.90% : 36. 46% : 14.64% : 0.00%
( ) ( ) ( )
] [ ]
48. 90% 10t
( ) ) ( ( ) )
( )
36. 46 %
1.2
, 2 4KL 14. 64%
A=1 Co( ) B=1
c=1 DI D D=37 7.5Kk
E=1

N~




SPK19040148 -0011
( DI D 11.5km (6.5km ) 1 m3
48.90% 36. 46 % : 14. 64% : 0.00% 3,16
( ( ) ( )
[ [ | MTPCOODO 1
10t 48.90% 10t MTPTO0O0O 1
( ( ( ( ) )
( ) ( RTPCO0O0O0G(
36. 46 % RTPT000(
1.2 TTPCOOO 1
, 2 4KL 14. 64% TTPTO0O0O1
EPOO1
A=2 B=4 ( 15cm )
C=1 DI D=40 11 k m (6.5km )
E=1

N~



SPK19040419 0 -0012
2t 2t 9.0km (5.0km ) 1
13.50% 81.59% : 4.91% 0.00% 8,503
( ) ( ) ) (
MTPC00O020
13.50% MTPTO00020
2t 2.0t 2t .0t
( ) ( RTPC00O0Q6
41. 21% RTPT000Q6
RTPC0O0O0O0Q2
40. 38% RTPT000Q2
1. TTPCOOO 13
, 2 4KL 4. 91% TTPTO0O0O 13
EPOO1
A=1 2t 2t B=3 9..0km (5. 0km )
C=8 1 1.5t 2.0t




( ) SPK190402314 0O -0013
150mm 1 RC-40 1 m?2
: 5.37% 15. 00% 79. 63 % 0. 00% 1,052
( ) ( ) (
MTPCO0O01S3
2 2.17% 2 MTPTO0O01S3
3.1m 3.1m
MTPCO0O01S3
2 1.68% 2 MTPTO0O01S3
10t 2.1m 10t 2. 1m
KTPCO0O0OOO
20t 0.55% KTPTO0O0OUQO
( 1, 2 8 20t

) ( ) EKOOO9
) ( ) RTPCO0O0OOO
6. 89% RTPTO0O0OQO
RTPCO0O0OOO
2.42% RTPTO0O0OQO
RTPCO0O0OOO
2.30% RTPTO0O0OQO
RTPCO0O0OOO
0. 69% RTPTO0O0OQO

) ( ) EROO0O9




( ) SPK19040234 0O -0013
150mm 1 RC- 40 1 m2
: 5.37% 15. 00% 79.63% 0. 00% 1,052
( ) ) ) (
TTPCOO0OOQS8
40 Omm 78. 28% 40 O0Omm TTPT00346
[ ] 150mm
1.2 TTPCO0O0O013
, 2 4KL 1.11% TTPT00013
( ) ( ) EZ0O09
E9999
A=150 ( mm) B=4 RC-40
D=1
(mm)/ 1000* ( 1)
(mm) :150.000( mm)




) SPK19040236 0O -0014
M- 30 100mm 1 1 m?2
10. 59% 29. 59% : 590. 82% 0. 00%
( ( ) ( ) (
MTPCO0O01S3
2 4., 28% 2 MTPTO0O01S3
3.1m 3.1m
MTPCO0O0135
2 3.32% 2 MTPTO0O01S3
10t 2.1m 10t 2. 1m
< > KTPCO0O0O0OOO
8 20t 1.08% KTPTO0O0OUQO
( 1, 2 8 20t
) ( ) EKOOO9
) ( ) RTPCO0O0OOO
13.58% RTPTO0O0OQO
RTPCO0O0OOO
4., 78% RTPTO0O0OQO
RTPCO0O0OOO
4., 54 % RTPTO0O0OQO
RTPCO0O0OOO
1.36% RTPTO0O0OQO
) ( ) EROO0O9




) SPK19040236 0 -00114
M- 30 100mm 1 1 m2
10.59% 29.59% : 59.82% 0.00% 533
( ) ( ) ) (
TTPCDOOZ1
30 Omm 57.14% RM- 40 TTPT003§7
[ 150mm
1.2 TTPCOOO 13
, 2 4KL 2.20% TTPTO0O0O 13
( ) ( EZO0O09
E9999
A=6 M- 30 E=100
H=1
mm)/ 1000* ( 1)
mm) : 100. 000 ( mm)




) SPK19040241 -0015
3.0m 1 50mm 1 m2
: 73 % 10. 31% : 87.96% 0.00% 1,401
( ( ) ( ) (
KTPC0O00MO0
1.11% [ ] KTPT000640
2.3 6.0m 3 6.0m
KTPC00047
10 12t 0.18% [ ] 10t 12t KTPT00047
( 1,2
KTPC0O0O0Od7
8 20t 0.18% KTPT000Qd7
( 1,2 8 20t

( ) ( ) EKOOO9
RTPC0O0O0d2
3.76% RTPT000d2
RTPCOOOdL1
2. 15% RTPT000d1
( ) ( ) RTPC0O0O0OdS6
2. 09% RTPT000d6
RTPC000dY
0.74% RTPT000d9

( ) ( ) EROO0O9




( ) SPK19040241 0O -0015
3.0m 1 50mm 1 m?2
: 1.73% 10. 31% : 87. 96% 0. 00% 1,401
( ) ( ) ( ) ( )
As (20) TTPCOO0OO023
(20) 79. 42 % [ ] 50 mm TTPT002§81
(J1 SK2208) (J1 SK2208) TTPCOO0OO026
( ) 7. 95% ( TTPT00026
PK- 3 PK- 3
1.2 TTPCOOO113
, 2 4KL 0.50% TTPTO00O0113
( ) ( ) EZ0O09
E9999
A=14 3.0m B=50 1
CcC=8 (20) E=2 PK- 3
G=1 - H=1 -
I =1 - ( )
1 (mm)/ 12000* ( ( )+ )
1 (mm) :50.000(mm)




) SPK19040243 -0016
3.0m 50mm 1 m2
: 6 4 % 9. 72% : 88.64% 0.00% 1, 485
( ( ) ( ) (
KTPC0O00MO0
1.05% [ ] KTPT000640
2.3 6.0m 2.3 6.0m
KTPC00047
10 12t 0.17% [ ] 10t 12t KTPT00047
( 1,2
KTPC0O0O0Od7
8 20t 0.17% KTPT000Qd7
( 1,2 8 20t

( ) ( ) EKOOO9
RTPC0O0O0d2
3.54% RTPT000d2
RTPCOOOdL1
2. 03% RTPT000d1
( ) ( ) RTPC0O0O0OdS6
1.97% RTPT000d6
RTPC000dY
0. 70% RTPT000d9

( ) ( ) EROO0O9




( ) SPK19040243 0O -0016
3.0m 1 50mm 1 m?2
: 1.64% : 9. 72% : 88. 64% 0. 00% 1, 485
( ) ( ) ) ( )
As (20) TTPCDOO38
(20) 85. 53 % [ ] 50 mm TTPT00284
(J1 SK2208) (J1 SK2208) TTPCOO0OO027
( ) 2. 56% ( TTPT00027
PK- 4 PK- 4
1.2 TTPCOOO113
, 2 4KL 0.47% TTPTO00O0113
( ) ( ) EZ0O09
E9999
A=4 3.0m B=50 1
C=6 (20) E=1 PK- 4
G=1 - H=1 -
Il =1 - ( )
1 (mm)/ 12000* ( ( )+ )
1 (mm) :50.000(mm)




0-0068

SS000249 0O -0017
[  1200m2 m2
1. 00 M2
1
1 mQ2
A=2 [ 1200m2 c=1




( ) SPK19040243 0O -0018
1.4m 3.0m 1 40 mm 1 m?2
: 86 % 13.79% : 84. 35% 0.00% 1,510
( ( ) ( ) (
< > KTPC0O000§9
1.30% ] KTPT000§9
1.4 3.0m 1.4 3.0m
< > ( ) KTPC000Qd9
3 4t 0.27% ] KTPT000(d9
1, 2 3 4t
< > KTPC00O0§7
3 4t 0.24% 3 4t KTPT000§7
1, 2

( ) ( ) EKOOO9
RTPCO0O00(Q2
5.14% RTPT000(d2
RTPC000(Q1
3.54% RTPT000(d1
( ) ( ) RTPCO000(6
3.48% RTPT000(Q6
RTPCO0O00Q9
1.23% RTPT000Qd9

( ) ( ) EROO0O9




) SPK19040243 0O -0018
4 m 3.0m 1 40mm
1.86% : 13.79% : 84. 35% : 0. 00%
( ) ( ) ( ) (
As (20) TTPCD
(20) 84.11% [ ] 50mm
1.2
, 2 4KL 0.24%

A=3 1.4m 3.0m B=40 1

C=6 (20) E=5

G=1 - H=1 -

I =1 - ( )
1 (mm)/ 12000* ( ( )+ )
1 (mm) : 40. 000 (mm)




( ) SPK19040243 0O -0019
1.4m 3.0m 1 40 mm 1 m?2
: 90 % 14. 00% : 84. 10% 0. 00% 1,560
( ( ) ( ) (
< > KTPC0O000§9
1.26% [ ] KTPT0004H9
1.4 3.0m 1.4 3.0m
< > ( ) KTPCO0O00Q9
3 4t 0.26% [ ] KTPT000Q9
1, 2 3 4t
< > KTPC00O0§7
3 4t 0.24% 3 4t KTPT0004§7
1, 2

( ) ( ) EKOOO
RTPCO0O0O0Q2
4., 98% RTPT000Q2
RTPC000Q1
3.43% RTPT000Q1
( ) ( ) RTPCO0O0O0Q6
3.37% RTPT000Q6
RTPCO0O00Q9
1.19% RTPT000Q9

( ) ( ) EROO0O9




( ) SPK19040243 0O -0019
1.4m 3.0m 1 40 mm 1 m?2
: 1.90% 14. 00% : 84. 10% 0. 00% 1,560
( ) ( ) ) (
As (20) TTPCDOO38
(20) 81. 43 % [ ] 50 mm TTPT00284
(J1 SK2208) (J1 SK2208) TTPCOO0OO027
( ) 2. 43 % ( TTPT00027
PK- 4 PK- 4
1.2 TTPCOOO113
, 2 4KL 0.23% TTPTO00O0113
( ) ( ) EZ0O09
E9999
A=3 1.4m 3.0m B=40 1
C=6 (20) E=1 PK- 4
G=1 - H=1 -
=1 - )
1 (mm)/ 12000* ( ( )+ )
1 (mm) : 40. 000 (mm)




SPK19040150 0 -0020
18-8-25(20) BB
0.00% : 31.82% : 68.18% : 0.00% 21,821
( ) ( ) ( ) (
14.90%
8.39%
6.32%
( ) ( )
18, 8, 20(25) 68.18% 24-12-25(20) W/ C 55%
wic(e60 ), ( )
A=1 B=3
c=3 18-8-25(20) BB F=2
H=2 J=1 -
K=1

e




(B ) SPK19040087 0 -0021
400mm 180° 1 1 m
: 4. 70% : 55. 16 % : 40.14% 0.00% 24,397
( ) ( ) ( ) (
( ) ( ) MTPCO000€63
1 3.59% 1 MTPTO0O0O€E3
0.45/ 0. 35m3, ot 0.45/ 0. 35m3, 2.0t
( ) ( ) EKOOO
RTPCO000(2
16.97% RTPT000(d2
RTPCOOO10
9.08% RTPTO00010
RTPC000Qd9
7.79% RTPT000(d9
( ) ( ) RTPCOO0OO0(6®6
4. 63% RTPT000(6
( ) ( ) EROO0O
(JI1 SA5372) B 1 TTPCOO111
, B 1 400, 2,43027.89% 400 mmx 2,430mm TTPTO0O0111
306kg
TTPCDOO10
18, 8, 40 10. 58% 18-8-25(20) W C 60% TTPT000d3
w/ Cc(60 ), ( )




18-8-408

( B ) SPK19040087 0 -0021
400mm 180° 1 1 m
: 4., 70% : 55. 16 % : 0. 00% 24,397
( ) ( ) ( )
TTPCOOO113
, 2 4KL 1. 2 TTPTO00O0113
) EZ0O09
E9999
A=1 B=5 400mm
c=2 180° D=1
E=1 1 G=1
Il =1 J=1




( B ) SPK19040087 0 -0022
400mm 360° 1 1 m
: 2. 79% : 56. 77 % : 36. 39% 4. 05% 41, 163
( ) ( ) ( ) (
( ) ( ) MTPCO0O0O04§3
1 2.13% 1 MTPT00043
0. 45/ 0. 35m3, 9t 0.45/ 0. 35m3, 2. 9t
( ) ( ) EKOOO
RTPC0O000Q2
19. 08% RTPT000Q2
RTPCO0O0OO10O0
12. 72% RTPT00010
RTPC0O0O00Q9
7.72% RTPT000Q9
RTPC0O00Q1
3.57% RTPT000(d1
( ) ( ) EROO0O
(J1 SA5372) B 1 TTPCOO111
, B 1 | 400, 2,43016.53% 400 mmx 2,430mm TTPT00111
306kg
TTPCDOO10
18, 8, 40 14. 83 % 18-8-25(20) W/ C 60% TTPTO000Q3
w/c(é6o ), ( )




( B ) SPK19040087 0O -0022
400mm 360° 1 1 m
: 2. 79% : 56. 77% : 36. 39% 4. 05% 41, 163
( ) ( ) ) (
<JI SG3112> TTPCO0OO0OO0Q1
SD345, D13 4., 04 % SD345 D13 TTPT000Q1
0.995kg/ m
1. TTPCOOO113
, 2 4KL 0. 76% TTPTO00O0113
( ) ( EZ0O09
- TSPC00O0Q1
4., 05% TSPT000Q1
E9999
400mm
360°

-—mo>»
oo

PR WeR

“OOwW
mmimn

el

18-8-408




0-0078

( Gr) SS000123 0 -0023
Gr-C-28B [ 121m 1 m
( ) 1.000m
Gr-C-28B
1
1 m
A=1 - B=3 _GrrC-28B
C=3 [ 121m E=1 -
F=1 - G=1 -
H=1 - I =1 -




0-0079

v0019 0O -0024
10 m
(A) 0-0025
0.8m 1.0m 8.50m
18-8-40BB
0-0026
0.36m
1: 3
10




( A) SPK19040068 0 -0025
0.8m 1.0m 18-8-40BB 1 m3
0. 00% 80. 25% 19. 75% 0. 00% 71,110
( ) ) (
RTPCO0O0O0Q2
26. 44 % RTPT000Q2
RTPCO0O0O1O
26. 12% RTPT0001O0
RTPCO0O00Q9
10. 20% RTPT000Q9
RTPC000Q1
2.28% RTPT000Q1
( ) ( EROO0O9
TTPCDOOJO
18, 8, 40 19. 75% 18-8-25(20) W C 60% TTPT000Q3
wrc(e6o ), ( )
E9999
A=3 0.,8m Om B=2 18-8-40BB
D=2 E=1 Co
F=1 ( G=1 -
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i

[N Y

SPK19040151 0O -0026

1: 3 1 m3

0. 00% : 61. 59% : 38.41% : 0.00% 36, 083
( ) ( ) ( ) ( )

RTPCO0O00(Q2
61. 59% RTPT000(d2
B TTPC00043
25. 55% 25kg TTPT00043
TTPC0O00OO046
12. 86% ( ) TTPT00046

EPOO1

B=3 1: 3




0-0082

S3020023 0 -0027
175%x3. 5 100 m
2.000
175%x3. 5 105. 000m
1
100 m
1 m

A=7 175x3.5
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0-0084

( ) SDT00001 0 -0029
1000 m
_ ( )
_15cm 1,000.000m
(JI SK5665_3 1
, 598. 50R¢Qg
15 18%
(JISR3301_1 )

0.106 O0.850mm 26. 25Rg

26. 25Rg

, 2 4KL 46.2001L

1

1,000 m

1 m
A=1 B=2
C=1 _15cm D=1
E=1 F=1
G=1 - H=1
I =1 - J=1




0-0085
SDT00001 0 -0029
1000 m




0-0086

A S3070045 0O -0030
10 m
1.000
2.000
2.000
10. 000
(m) x10m
#09
4 %
10 m
1 m

A=999999990909 CODE (m) B=0 (m3/ 10m)




0-0087

vooo1 0 -0031
10
0.769
10/ 13
4.615
60/ 13
2.308
30/ 13
< >
50t 0.769
1, 10/ 13
1
10




0-0088

S3234 0O -0032
10 m3

1.600

1.700

2.500

3.900

30 12, 20(25) 10. 50 MmB 10*1. 05
W/ C(55 ), ( )
0-0033
m3 1.500
#09

10 %

10 m3

1 m3
A=1 B=0 30m ( m)
C=2 30-12-20(25) N D=1
E=2 H=1




0-0089

S9231 0O -0033
m3
, 2 4KL 16. 00 |
( )
0.14
1
90 110m3/ h

1
1
m3 B=0 (

O >
nou

o

.14




0-0090

S3240 0O -0034
( ) 100
0.700
2.200
1.300
PC <JI SG3536>SWPR19
19 , 017 .8 173.46RgQg 165.2*1.05
1.652kg/ m
#09
156
100
1
A=1 ( ) B=165. 2 100 )




0-0091

S3316 0 -0035
90kN (1S17.38) 10

0.400

1.200

0.600

0.000

0.000%

#0090

4 0%

10

1
A=2 390kN (1S17. 8) B=0 ( ) ()
C=99999999099 F ( Y () D=0 ( ) ()
E=Z999999990909 F ( Y ()




0-0092

S3246 0 -0036
20 60T (1S12.7 1S21.8mm ) 0.349
1
1
A=1 1 B=8




S3249

0

-0037

0-0093

. 000




0-00914

( SS000199 0O -0038
m
1.000
1.8m 50kg 180kg
1
1




SPK19040296 0 -0039
) 1
0.00% 11.03% 88.97% 0.00% 95,100
( ) ( ) ( )
RTPC000Q?2
8.49% RTPT000(Q2
RTPC000Q9
2.54% RTPT000(Q9
A F999999909 !
88.97% 265 FC250 TTPT002d9
EPOOL
A=2 ) B=9999999999 F C )




SPK19040150 0 -0040
24-12-25(20) BB
0.00% : 31.82% : 68.18% : 0.00% 21,821
( ) ( ) ( ) (
14.90%
8.39%
6.32%
( ) ( )
24, 12, 20(25)68. 18% 24-12-25(20) W/ C 55%
WihCc(55 ), ( )
A=1 B=3
c=1 24-12-25(20) BB F=2
H=2 J=1 -
K=1

e
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i

[N Y

SPK19040152 0 -0041
1 m2
0.00% : 100. 00% : 0.00% : 0.00% 8,254
( ) ( ) ( ) ( )
RTPCOOO10
47.76% RTPTO00010
RTPCO000(2
24. 47 % RTPT000(d2
RTPC000Qd9
9.08% RTPT000(d9
( ) ERO0O0O9
EPOO1
B=1




0-0098

= O
o o

99 0 -0042
SD345 D13 t

1.000t

<JI SG3112>
SD345, D13 1.030¢ 1*1.03
0.995kg/ m

=Y
-

SD345_p13
110t

AXTmMmo>»
ST mw
ninnu
Rk RO

moufn
RRNR R
—




SPK19040297 0 -0043

300x150x15 1
- 0.00% : 7.76% : 92.24% : 0.00% 36,428

( ) ( ) ( ) ( )

RTPC000(Q2
7.76% RTPT000(Q2
300x200x13 TTPCHO0045
,150x300x15 92.24% TTPT00210

A=1 300x150x15




SPK19040297 0 -0044
300x200x13 1
- 0.00% : 7.76% : 92.24% : 0.00% 36,428
( ) ( ) ( ) ( )

RTPC000(Q2
7.76% RTPT000(Q2
300x200x13 TTPC00210
,200x300x13 92.24% TTPT00210

EPOO1

A=14 300x200x13

o




SPK19040015 -0045

.92 % 37.40% 0.00%
( (
)

4 4,
. 6m3

37.
4 KL 17.

mo >
nnon

R R R

(wilvy)
non
e




SPK19040015

mo >
nnon

R R R

1m 2m
32.95% : 54, 45 % : 12. 60%
( ) ( )
)
32.95%
0. 35m3 0
(
54, 45%
1.
2 4KL 12. 60%
B=2
D=1




SPK19040001 0 -0047
1, 000m3 1 m3
56. 76 % . 98% : 26 % : 0.00%
( ( ( ) (
( ) ( ) MTPCO0O012
3 35.22% 3 MTPTO0O012
0.8/ 0. 6m3 0.8/ 0. 6m3
( ( ) MTPCO0O0O 3
17.83% MTPTO0O0O 3
1300kg 1300kg
( ) ( ) EKOOO
( ) ( ) RTPCO0O0O0G(
27.09% RTPT000(
( ) ( ) EROO0O
1.2 TTPCOOO 1
, 2 4KL 13.33% TTPTO0O0O1
( ) ( ) EZ0OO0O9
EPOO1
A=3 B=1
E=1 F=09 1, 000m3
H=1 | =1




56.

76 %

28.

SPK19040001

1,000m3

98 %

14.

26 %

0.00%

0

-0047

0-0104

m3
1,422

.

)




( ) SPK19040007 0 -0048
50, 000m3 1 m3
44.75% 37.76% : 17.49% 0.00% 195
( ( ) ( )
( ) ( ) MTPCO0O0014
2 44.75% 2 MTPTO00014
0.8/ 0.6m3 0.8/ 0.6m3
C ) C ) RTPC000Q6
37.76% RTPT000(Q6
1. TTPCOOO13
L2 4KL 17.49% TTPTO00013
EPOOL
A=1 B=1 50, 000m3




SPK19040019

4m
. 51%
( )
14. 90%
2.28%
0. 08%
38.50%
26. 7T1%
11. 30%
6. 15%
0. 08%

o




0-0107

SPK190400109 0O -0049
4 m m3
17.26% 76. 51% 6. 23% 0. 00% 903
( ( ) ) (
A=2 4 m D=1




SPK19040017 0 -0050
1 m2
0. 00% : 100. 00 % : 0. 00% : 0. 00% 404
( ) ( ) ( ) ( )
RTPCOO0O0Q2
100. 00% RTPT000Q2




SPK19040150 0 -0051
18-8-40BB ( ) 1
4. 78% 37.76% : 57.46% 0.00% 26,831
( ( ) ) (
KTPC
0.6) 4.51% [ ] KTPT
1,2, 3 0.8m3 2.9t
( EKOOO
RTPC
11.24% RTPT
RTPC
10.61% RTPT
( RTPC
6.88% RTPT
RTPC
6.76% RTPT
( EROOO
TTPCD
8, 55. 46 % 24-12-25(20) W/ C 55% TTPTO
) (
1. TTPC
2 4KL 1.89% TTPT




0-0110

SPK19040150 0 -0051
18-8-40BB ( ) 1 m3
4. 78% : 37.76% : 57.46% : 0.00% 26,831
( ) ( ) ( ) ( )
( ) ( ) EZ0O09
E99909

18-8-40B8B

“OXr
m
RN R
ATw
nnn
RPNN
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i
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SPK19040152 0O -0052

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 4,200
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
59. 76% RTPTO0O0O01JO
RTPCO0O00(Q2
19. 23% RTPT000(d2
RTPCO0O00Q9
5. 76% RTPT000Qd9

( ) EROO0O9

EPOO1

B=5




0-0112

S3080 0O -0053
24-12-20(25)BB 10 m3
0.060 0.06*1
0.180 0.18*1
0.240 0.24*1
24, 12, 20(25) 10. 20 M8
W/ C(55 ), ( )
0-00514
m3 0.060
0-0055
10 m3
#09
4 %
10 m3
1 m3
A=3 24-12-20(25) BB cC=1
F=0 30m (m) | =0
J=1




0-0113

S9238 0O -00514
m3 1
( )
1.00
, 2 4KL 82.00 L
1.03
90 110m3/ h
1
1

mo >»
nnn
oOR R
o
w
~~
O ®

m3




0-0114

S0306 0O -0055
10 m3
0.160
#09
25 %
10 m3
1 m3
A=1 B=2




0-0115

SS000099 0 -0056
SD345 D16 D25 [ 110t 1 t
1.000t
<JI SG3112>
SD345, D16 25 1.030t 1*1.03
1
1 t

SD345_D16 D25
110t

AXTmMmo>»
ST mw
ninnu
S )

moufn
RRNR R
—




0-0116

S0380 0O -0057
100 m2
1.400
6. 300
1.200
1.400
#09
34
100 mp
1 mp
A=1 B=1
C=0




SPK19040015

27.13% : 62.19% : 10. 68%
( ) ( )
( )

2 27.13%

0.8/ 0.6m3 0
39.60%

¢ ) (
22.59%

1

, 2 4KL 10. 68%

mo >»
m
R AR
(wilvy)
non
e




SPK19040015

29.23% : 59.27% : 11.50%
( ) ( )
( )

2 29.23%

0.8/ 0.6m3 0
34.93%

¢ ) (
24.34%

1

, 2 4KL 11.50%

mo >»
m
R AR
(wilvy)
non
N




SPK19040001 0 -0060
5, 000m3 1 m3
55. 37 % .27 % : 16. 36% : 0.00%
( ( ) ( ) (
( ) ( ) MTPCO0O012
3 35.36% 3 MTPTO0O012
0.8/ 0. 6m3 0.8/ 0. 6m3
( ( ) MTPCO0O0O 3
17.89% MTPTO0O0O 3
1300kg 1300kg
( ) ( ) EKOOO
( ) ( ) RTPCO0O0O0G(
27.19% RTPT000(
( ) ( ) EROO0O
1.2 TTPCOOO 1
, 2 4KL 15. 74% TTPTO0O0O1
( ) ( ) EZ0OO0O9
EPOO1
A=3 B=1
E=2 F=3 5,000m3
H=1 | =1




55.

37%

28.

SPK19040001

27 %

5,000m3

16.

36%

0.00%

0

-0060

0-0120

2,624

.

)




Em 20m
41. 01%

SPK19040015

0.00%

-0061

(

0. 4m3

0.08/ 0. 06m3

, 2 4KL

. 25% : 10.
( )
35.56%
5.45%
16.40%
16. 06 %
15. 79%
10. 74%

mo >»
m
R AR

Inn
N W

oW

Om

e

o




SPK19040001 0O -0062
(1) 1 m3
2.46% 95. 95 % 1.59% 0.00% 9,116
( ( ) ( ) (
MTPCO000§9
E 1.98% E 1 MTPTO000§H9
5.0m3/ min 0. 7MPa 5. 0m3/ min 0. 7MPa
MTPC00037
0. 46% MTPT00037
20kg 20kg

( ) ( ) EKOOO9
RTPC000(Q1
66. 21% RTPT000(d1
RTPCO0O00(Q2
28. 80% RTPT000(d2

( ) ( ) EROO0O9
1.2 TTPCO0OO0OO0O13
, 2 4KL 1.58% TTPTO00013

( ) ( ) EZ0O09

EPOO1




SPK19040001 0 -0062

(1)
95.95% : 1.59% : 0.00%

o>
i

= Ww




SPK19040001 0O -0063

(1) 1 m3

2. 79% 5. 36% 1.85% 0.00% 11,750
( ( ) ( ) (
MTPCO000§9
E 2.30% E 1 MTPTO000§H9
5.0m3/ min 0. 7MPa 5. 0m3/ min 0. 7MPa
MTPC00037
0.47% MTPT00037
20kg 20kg

( ) ( ) EKOOO9
RTPC000(Q1
65. 20% RTPT000(d1
RTPCO0O00(Q2
29. 22% RTPT000(d2

( ) ( ) EROO0O
1.2 TTPCO0OO0OO0O13
, 2 4KL 1. 84% TTPTO0O0O013

( ) ( ) EZ0O09

EPOO1




0-0125

o>
i

N W

SPK19040001 0 -0063
(11) 1 m3
2.79% : 95. 36% 1.85% 0.00% 11,750
( ) ( ) ( ) ( )
B=3

(rtr)




SPK19040019

1m 4 m
.04 % : 4
( )
11. 29%
1. 78%
0.11%
51. 01 %
22.47%
8. 56%
4. 67 %
0.11%

o




0-0127

SPK190400109 0O -00614
1m 4 m 1 m3
13.18% : 82.04% : 4. 78 % : 0. 00% 1,703
( ) ( ) ( ) ( )

Im 4m D=1




SPK19040016 0 -0065

1
28.39% 71.61% 0.00% 0.00% 38,880

( ) ( ) (
> ( KTPC00023
16t 28.39% [ ] 16t KTPT00023
( 1,2

RTPC000Q1
71.61% RTPT000(Q1




SPK19040150 0 -0066
24-12-25(20) BB 1 m3
5.30% : 18. 01% : 76. 69% 0.00% 19,678

( ) ( ) ( (
MTPCO0O00H0

5.25% MTPTO000HO0

90 110m3/ h 90 110m3/ h

( ) ( ) EKOOO9
RTPC000(2
10.16% RTPT000(2
RTPC000(1
3.18% RTPT000(1
RTPCO0O0O0(Y
2.21% RTPT000(d9
( ) ( ) RTPCO0O0O0(6
1.94% RTPT000(6

( ) ( ) EROO0O
TTPC00343
24, 12, 20(25)75.61% 24-12-25(20) W/ C 55% TTPT00343

W/ Cc(55 ), (

1.2 TTPC0O0013
.2 4KL 1.07% TTPT00013




0-0130

SPK19040150 0 -0066
24-12-25(20) BB 1 m3
5.30% : 18.01% : 76.69% : 0.00% 19,678
( ) ( ) ( ) ( )
C ) EZ009
E99909

«Tno>r
mumun

RPNR R

24-12-25(20) BB 10m3 100m3

AOmuw
nmnunu
PR RPR




0-0131

S3020023 0 -0067
150x3. 5 100 m
2.000
150%x3.5 105.000m
1
100 m
1 m

A=6 150x3.5




0-0132

( S1050025 0O -0068
4 0k N/ m2 40 m3 10 m3
0.290
0.530
0.250
0.570
#09

13 %

10 m3
1 m3




0-0133

voo1o0 0O -00609
: 0.5, 650 10 m
0-0070
18-8-40BB 1. 87 M3
0-0071
7.5cm 12.5cm 8. 81MP2
RC-40
10 m




SPK19040056 0 -0070

18-8-40BB 1 m3
: 2.22% 70. 67 % : 27.11% 0.00% 54,021

( ( ) ( ) (
< > ( ) KTPCO0O0OO0O(6
0. 8m3( 0.6) 2.0t 2.22% [ ] KTPT000(d6
( 1,2,3 ( 2 ) 0.8m3 2.9t

RTPCO0OO10
24.21% RTPT00010
RTPC000(2
18. 58% RTPT000(2
RTPCO0O0O0(Y
9.87% RTPT000(d9
RTPC000(1
7.73% RTPT000(1

( ) ( ) EROO0O
TTPCDOO10
18, 8, 40 25. 99 % 18-8-25(20) W/ C 60% TTPT000d3

W/ c(60 ), (

1.2 TTPC0O0013
.2 4KL 0.91% TTPT00013

( ) ( ) EZ0OO0O9




0-0135

SPK19040056 0 -0070
18-8-40BB 1 m3
: 2.22% : 70.67% : 27.11% : 0.00% 54,021
( ) ( ) ( ) ( )
E9999
A=2 18-8-40BB C=2
D=1 ( ) E=1 -




SPK19040039 -0071
7.5cm RC-40
77. 15% : 18. 0. 00%
( ) (
< >
0. 8m3( 4., 7T5%
0. 8m3( 0. 6m3)
( )
40. 16%
17. 48%
9. 93%
( )
9. 05%
( )
40 Omm 15. 28%
2. 78%

o
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o>

SPK19040039 0 -0071
7.5cm 12.5cm RC-40 1 m?2
: 4. 78% 77. 15% : 18. 07 % 0. 00% 942
( ) ( ) ) (
( ( EZ0O09
EPOO1
5cm 1 5cm B=1 RC-40

=N




SPK19040044 0 -0072
( ) 60 65cm 1 m2
17% 14.22% : 78.61% 0.00% 17,560
( ) ) (
> ( KTPC0O0014
25t , 7.17% [ KTPT00014
1,2, 3
RTPC0O0O0O0Q2
4. 60% RTPT000Q2
RTPC00O0QS5
4. 23 % RTPT000Q5
RTPC00O0Q9
2. 75% RTPT000Q9
RTPC0O0O0Q1
2. 64% RTPT000Q1
( ) TTPCHO1142
60 65cm 78. 61% 500mm TTPT00273
EPOO1
A=2 B=2 ( ) 60 5cm




( ) SPK19040052 0O -0073

150 50mm 1 m3

8. 16% 48.32% : 43.52% 0. 00% 3,279
( ( ) ) (
< > ( ) KTPCO0O0O0Q6
0. 8m3( 0.6) .9t 8. 16% [ ] KTPT000Q6
( 1,2, 3 ( 0.8m3 2.9t

RTPCO0O0O0Q2
24. 67 % RTPT000Q2
RTPC000Q1
14. 15% RTPT000Q1
( ) ( RTPCO0O0O0Q6
8. 34% RTPT000Q6

( ) ( EROO0O9
TTPCOOOQ6
150 50mm 40. 98% RC- 40 TTPTO000QS8
1.2 TTPCOOO113
, 2 4KL 2.54% TTPTO00O0113

EPOO1

A=2 B=3 150 50mm
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40052 0O -0073
mm 1 m3

8.16% : 48.32% : 43.52% : 0.00% 3,279




( SPK19040052 0 -0074
RC- 40 1
48.32% : 43.52% 0.00%
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0. 8m3( . 9t 8.16% [ KTPT
. 8m3 2.9t

RTPC
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( ) ( ) ( ) ( )
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t=10mm 9. 8k N/ m 1 m2

: 0. 00% : 23. 88% : 76. 12% 0.00% 794
( ) ( ) ( ) (

RTPCO0O00(Q2
17. 79% RTPT000(d2
RTPCO0O00Q9
6. 09% RTPT000Qd9
( ( TTPCOO0OO4S8
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A=1 t310mm 9. 8k N/ m
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< > ( ) KTPCO0O0OGQO
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RTPCO0O0O01
21. 75% RTPTO0O0O01
RTPCO0O0OO
15.55% RTPTO0O0OO
RTPCO0O0OO
11.95% RTPTO0O0OO
RTPCO0O0OO
6. 20% RTPTO0O0OO

( ) ( ) EROOO9
TTPCDOO 1
18, 8, 40 28. 91% 18-8-25(20) W C 60% TTPTO0O0OQ
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0. 93M




o>
i

=N

SPK19040152 0O -0079

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 11, 226
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, 2 4KL 0.21% TTPTO00O0113
EPOO1
A=1 5m




SPK19040030 0 -0083
14. 45% L 07 % : 12. 0.00%
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18-8-40BB 1 m3
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0. 8m3( 0.6) 2.0t 1.93% [ KTPTO00OO
( 1,2, ( 2 ) 0.8m3 2.9t
< > ( ) KTPCO0OO1
0. 8m3( 0.6) 0.54% KTPTO0O0O01
( 1,2,3 0. 8m3( 0. 6m3)
RTPCO0O0O01
21. 01% RTPTO0O0O01
RTPCO0O0OO
20. 72% RTPTO0O0OO
RTPCO0O0OO
9.71% RTPTO0O0OO
RTPCO0O0OO
8.71% RTPTO0O0OO
( ) ( ) EROOO9
TTPCDOO 1
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1.700
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1,2, 3
#09
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10 t
1 t
A=1 B=1
c=1 - D=1 25t
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10 t
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25t 1.000
1,2, 3
#09
6 %
10 t
1 t
A=2 B=1
c=1 - D=1 25t
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0 -0107

0-0178
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H-350, 150kg/ m 1.000t¢
90 (3 )
(
1.000
( )
0.220
90 (3 )
( )
0. 220t
( )
0. 040t
( )
1
1 t
A=1 B=3 H-350, 150kg/ m
C=1 D=2 :
E=2 (A) F=2 (B)
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13.53% 81.55% : 4.92% 0.00% 5,320
( ) ( ) ) (
MTPC00O020
13.53% MTPTO00020
2t 2.0t 2t .0t
( ) ( RTPC00O0Q6
41.31% RTPT000Q6
RTPC0O0O0O0Q2
40. 24 % RTPT000Q2
1. TTPCOOO 13
, 2 4KL 4. 92% TTPTO0O0O 13
EPOO1
A=1 2t 2t B=3 9..0km (5. 0km )
C=4 1 0.3t 0.5t
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6 m 20m 10

. 125 1*0.125
. 125 1*0.125
. 125 1*0.125

< > (

25t , . 125

1,2, 3 )
A=2 6 m 20m




0-0184

SHD10011 0O -0113
6 m 20m 10

.075 1*0. 075
.075 1*0. 075

< > (

25t , .075

1,2, 3 )
A=2 6 m 20m
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> < >
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( 1,2 ) ( 1,2 )
> ( ) ( )
9. 62% [ ]
11 12t 11 12t
( ) ( )
43.63%
20. 82 %
1.2
, 2 4KL 13.22%
A=3 4, 0m B=1 10, 000m3
c=1
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( ( ) ( ) (
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1 54.28% 1 MTPT000Q6
20t (19 21t) 20t (19 21t)
C ) C ) RTPC000Q6
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1. TTPCOOO13
L2 4KL 18.35% TTPTO00013
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A=1 B=1
D=1 F=1 30, 000m3




.84 %

SPK19040001
5,000m3

C )

49. 10%

32.84%

18. 06%

mo >
o

WN

5, 000m3

18.

m
Inn

e




0-0188

Vvioo1 0O -0117
RC-40,t=100mm 100 m2
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0
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1.00
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( 1,2,3
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( ) S9000045 0 -0122
150mm, 10m 7. 5kw
> (
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7. 5kw
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c=1.2 ( ) D=3 2




SPK19040098 0 -0124
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0. 00% : 19.91% : 80.09% : 0. 00% 146, 090
( ) ( ) ( ) ( )
RTPC0O000(Q2
19.91% RTPT000(Q2
(JI1 SG3471) TTPCDO03Q7
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A=1 B=2
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H=1
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72. 84 % 2 2,000mm 4., 5mm
A=3 B=2
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A=2 B=2
C=7 2000 mm D=1
H=2




0-0199

( Gr) SS000127 0O -0128
A, B, C( 4 m) 1 m
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S1000005 0O -0132
1
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D=1 2 3 4 E=59. 2 ( k m)
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0.700
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S8115 0O -0136
1. 0m3 1. 4m3 1
2.700 2. 7*1
< > ( )
25t 1.400 1.4*1
( 1,2,3 )
#06
216 %
1
1
A=14 1. O0m3 1. &2m3
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FHF1IARYE=ZY

. Wrefg | KR | AR

(m?) (m) (m®)
O STRAEMNTES | 0.2610 | 1.040 | 0.271
QLM 0.2771 | 0.120 | 0.033
OIEAEE 0.2931 | 12.300 [ 3.605
DAL 0.2826 [ 0.180 | 0.051
O TS | 0.2721 | 1.500 | 0.408
T FEARFH 15.140 | 4.368
®HzeE (=) | 0.0635 | 12.360 | -0.785
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A () (m) (n®)
O S HBEHTES | 0.2666 | 1.040 | 0.277
QfriEE 0.2799 | 0.120 | 0.034
(OIEHEER 0.2931 | 12.300 | 3.605
DPENEE 0.2826 | 0.180 | 0.051
® B REAMTER 0.2721 | 1.500 | 0.408
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THT1ARY=D
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(m) (m) (m®)
i 3 SR TER 0.900 | 1.040 | 0.936
QLS 0.912 | 0.120 | 0.109
OISR 0.924 | 12.300 | 11.365
DYENES 0.954 | 0.180 | 0.172
®H FEIREHTER 0.984 | 1.500 | 1.476
A F 15.140 | 14.058
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A= 14.058 X 3
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=
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60 30 30 30 30 30 30 60
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THT1ARY=D
=4 X
HH & X & ﬁfé
(m) (m) (m®)
i 3 SR TER 0.580 | 1.040 | 0.603
QYL E 0.640 | 0.120 | 0.077
OISR 0.700 | 12.300 | 8.610
DYENES 0.700 | 0.180 | 0.126
G FEIREHTER 0.700 | 1.500 [ 1.050
&t 15.140 | 10. 466
1fEYH7-0
A= 10. 466 X 3

31. 398 p?
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MEEIL, FMEOEHOEA B

A1E 15140
@g | ] | ] | ] 1 ]
]
® ® ® ®
550 3140 560 3040 560 3040 560 3140 550
EMT I AYE=D
AR | KEE | #HE
HH
(m) (m) (m®)
©H 258 (PAR) 1.018 | 12.360 | 12.582
EMT1ARE=D R
A= 12.582 + 0. 0635 X 1. 00000 X 4
+ 0. 0635 X 1. 00000 X 4
= 13.090 p?
1E472Y
A= 13.090 X 3
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FTHT1ARY=D
=R AR | K& ﬁfﬁé
(m) (m) (m®)
i 3 SR TER 0. 942 1.040 [ 0.980
QYL 0.933 | 0.120 | 0.112
OISR 0.924 | 12.300 | 11.365
DYLNES 0.954 | 0.180 | 0.172
®H FEIREHTER 0.984 | 1.500 | 1.476
A F 15.140 | 14.105
1#&347=0
A= 14.105 X 2
= 28.210 p?
iy
THT1ARH=D A
A= 0.2666 X 1. 00000 X
= 0. 533 p?
14720
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@ @ ® ® ® ® ® ® )
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@ @ @ @ @ @ @ @
THT1ARY=D
HH S KR | MW
(m) (m) (m®)
i 3 SR TER 0.640 | 1.040 | 0.666
QYL E 0.670 | 0.120 | 0.080
OISR 0.700 | 12.300 | 8.610
DYENES 0.700 | 0.180 | 0.126
G FEIREHTER 0.700 | 1.500 [ 1.050
&t 15.140 | 10.532
1E47
A= 10.532 X 2

21. 064 p?
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MEEIL, FMEOEHOEA B

#HiE 15140
®§ [ ] | | | ] 1 |
® ® ® ®
550 3140 560 3040 560 3040 560 3140 H5H0

FEHF LAY Y

=R AE | KEE | @

(m) (m) )
®Hr 2= (N 1.018 | 12.360 | 12.582
M1 ALY RHE
A= 12.582  + 0. 0635 X 1.00000 X 4
+ 0. 0635 X 1.00000 X 4
= 13.090 p°
14720
A= 13.090 X 2
= 26.180 p°
3) At

1YY (m?)

ER g

HpT AN aE

1R 42.174  28.210| 70. 384

Bifi 1.566  1.066| 2.632

JEE 31.398  21.064| 52.462

P 39.270  26.180| 65. 450




2.5 &M ( SD345 ) X 2 PR

Hr1ARY7=0 . D10
14720 . D10

168 kg
168 kg X 5 = 840 kg

2.6 PCH#att

M1 ARYTD

PCERMAAFER! : SWPR7BL 1S15. 2

HNE & yw=  1.101 kg/m
PCERMA A %K - n= 12 A&
IRY - REE L= 15.140m
KRSV ES L= 181.680m
W= 1.101 X 15. 140 X 12
= 200.030 kg
1EH7-0
SW=200. 030 X 5
= 1000. 150 kg
>L= 181.680 X 5

= 908.400 m
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IARY 720 A% n= 4K (FldH7=0)
TS 7= RE L= 1.000m
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= 8.000m
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L= 8.000 X 5

= 40.000 m
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L1= 4. 640

X
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1. 00000

0. 580 m

4.640 m
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450

e
A2
350 40 350
FAFRIFE  0.720 m (B J71A])
A 90 ° 0° 0°
£ 1.00000
MrE% N= 4 fHpT
A2=  0.020 X 0. 070
= 0.0014 p?
31 arvyy—+» (o ck= 30 N/mm?)
Bl K i
v=(  0.720 X 0. 450 X 15. 140
A2
— 0.0014 X 13.980) X

= 2.071 n?®

Hrf%
4

FT TS S AR
4. 368
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o Lo
() [ap]
=
e S—
=
A2
350 2D 350
Al=  0.020 X 13. 980 X
= 1.118 m?
A2=  0.0014 X 2 X
= 0.011p®
A3=  0.140 X 0. 450 X
= 0.504 p°

SERA: (0. 020+0. 140) /2

Ad=  0.080 X 0. 060 X
= 0.038p®
A5=  0.140 X 0.520 X
= 0.582 m?

SA= 2.253 p?
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B
&

15140

520 g
580 13980
1A T [
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HrE 15140
E 7
A K e
22 %‘ =
45 A x:H AL
520 J 13980
4
B
4 X 1. 00000
Rt
2 X 4 X 1. 00000
2 X 4
2 X 4
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3980

L 125 3460 2 395 1
140 60 25 _25_ 60 310 J
S—RHTIEIAR $42 PGl & U #R
—AREEE 35 SWPR19L 1S17.8
g 2 e e SRS e s T .__‘_‘_'_:I:':E:I
i | L d
EAMR Foh—7L—hk 1) Fih ¢6
¢ 50x60 25x120x120
15 140 18
PCHAFAFER] : SWPRIOL 1S17.8
=R = yw=  1.652 kg/m
Rk OARSL n= 8 A
IARYEZDRES L= 3.460 m
WS-V R L= 27.680m
W= 1.652 X 3. 460 X 8
=  45.727 ke
3.4 o—2X ( ¢35 mm )
Ft
L=  0.015 X 1. 00000
=  0.015m
(0.015X2)
Ls= 0.140  + 0.030) X 8 X
=  5.440m
3.5 5k ( $42,35 mm )
Ls= 27.680 m
3.6 EER ( 1S17.8 ) #fEHESL— |
N= 8 X 2
= 16
3.7 RET ( FBlE )
N= N
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TEX

o AT (n=3)
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=

YR A (n=2)
550
3 i
520 40
Al=  0.080 X
= 4.845p°
A2= 1/2 X (
X
= 0. 257 p?
A3= 1/2 X (
X
= 0. 382 p?
S A= 5. 484 p?
3.9 BT (B2 )
L= 15.140 X

30. 280 m

15. 140

0. 550

X

+

J) 500

30
4
0.520)
2 X
0.500 )
3 X

X

0.030

0.030



4, BT

4.1 BIRE
Hif& 15140
14950 19p
2 3 14850 29
14330 810
TR EE A
3800
600 2600 600
T AT 7N b
tmin=80mm
= > g 1. 5% 8 o
3 i =
S o v I T = ! ! 1 ™ Flv of ©
: : :
110 1‘1
350 350
460 4@720=2880 460
NHET, HESITNEARTETS
LR OIS R
(mm )
GE1 Cl C2 C3 C4 Ch C6 C7 GE2 | ‘FH=E
L L1 740 726 717 712 710 712 717 726 740 720
L2 360 346 337 332 330 332 337 346 360 340
L2 110 96 87 82 80 82 87 96 110 90
AR CL 130 115 106 101 100 101 106 115 130 109
R2 149 135 126 121 119 121 126 135 149 129
o R2 399 385 376 371 369 371 376 385 399 379
W
R1 779 765 756 751 749 751 756 765 779 759

SEHE R - (GE1+2 X (C1+C2+C3+C4+C5+C6+CT)+GE2)/16




W i

SN 1

Al=  0.600 X  0.340  + 0.110 X  0.380 = 0. 246
- bRl

A2=  0.600 X  0.379  + 0.110 X  0.380 = 0. 269
SRS
SN 1 ]

L1= 0.340 X 2 o+ 0.110 +  0.380 = 1.170 m
- ki

L2= 0.379 X 2 o+ 0.110 +  0.380 = 1.248 m
e
TR

L3= /2 X ( 14.950 +  14.850) = 14. 900 m
Wz > b L4= /2 X ( 0.190 + 0.290 ) = 0.240 m
< bR

L5= /2 X ( 14.330 +  14.330) = 14.330 m
Wz > b L6= /2 X ( 0.810 + 0.810) = 0.810 m
#Hk

AR AR S 0.608 /  0.600 1.01333



4.2 a9 )—F (ock= 24 N/mm?)
S R i
Vi=  0.246 X ( 14.900 +  0.240 ) = 3. 724 n°
V2= 0.600 X 0.250 X  -0.240 = -0. 036 n°
S w7 1Y
V3= 0.269 X  14.330 = 3.855 p°
V4=  0.110 X 0.380 X 0.810 = 0.034 p°
- Mol RES TS Y 7 A
V5=( 0.700 X 0.450 - 0.2931) X 15. 140 = 0.332 n’
S [
a3 S (n=2) 1 R 8T (n=6)
va V5
520 30 30 500 3
550 560
7 e 1 BTO
o | fam | ‘
(Ep) [Ep)
o o
i S A
V6= 1/2 x( 0.550 + 0.520 ) X 0.030 X 0. 350
X 4 = 0.022 n®
Hh R RRA TR
V7= /2 X( 0.560 + 0.500 ) X 0.030 X 0. 350
X 6 = 0.033 i’
SV= 7.964



4.3 B

T A
Al= 1.170 X ( 14.900 + 0.240 ) = 17. 714 n?
A2= -0.250 X (  0.190 + 0.290 ) = -0. 120 p?
A3=  0.600 X 0.360 + 0.110 X 0. 380 = 0. 258 m’
Ad=  0.608 X 0. 250 = 0. 152 m’
Ab= 0.600 X 0.110 + 0.110 X 0. 380 = 0. 108 p?

i
A6= 1.248 X  14.330 = 17. 884 m’
A7T=(  0.110 + 0.380 ) X 0.810 = 0.397 m’
A8=  0.600 X 0.399 + 0.110 X 0. 380 = 0. 281 m?
A9=  0.600 X 0.399 + 0.110 X 0. 380 = 0. 281 m?

- MBI R A
A10= /2 x(  0.350 + 0.380 ) X 0.030 X 4 = 0. 044 n’
All=  0.350 X 0.030 X 4 = 0. 042 m*
SA= 37.041
4.4 &%fh ( SD345 )  [XHIZ M

D13 - 702 kg



b, ST

i 15140

5 14440 35

6
[——

3 s BREERETL T ) — b WAEEBEITE T s U — b
460
g I
) LO;
810
FHR EFR
3800
600 2600 600
FTARZ7A
tmin=80mm
P, S 1. 5% g o
<H =
g qi T T : T T 3 %
tog | X 1 X | X | X l [og
llk 41
350 350
460 4@720=2880 460
HERE . WES I THESETT
5.1 EHEHERE
t=  1/4 X ( 920 + 109 X 2 + 129 ) = 109 mm
5.2 PRI 7 FEh% ( tmin= 80 mm )
Al= 2.600 X ( 15.140 - 0.350 X 2) = 37. 544 p?
A2=  0.250 X 0. 460 = 0.115 p?
S A= 37.544 + 0.115 = 37.659 i’
5.3 A > U—+ (o ck= 18 N/mm?)

v=( 0.109 - 0.080 ) X 37.659 = 1. 092



6. HEKT

6.1 Hekwt

( STKR400 ) ( AEhEEgn A v % )

fIZHE 50X 100

N= 1f&pT
W= 6.72 X NG
1. Bi)kT
1.1 BiKfE ( = NRBEAKE )
A= 37.7Tnm* HHETLSH
1.2 ftEMHKE ( A7V T RAyva ¢18 )
L= 2.50 + 14.82 + 2.75  + 15. 07
1.3 HKkFrvv 7 ( WERbHgH A >~ 3 : HDZ35 )
N= 8
1.4 K4 T ( VP40A )
L= 0.950 m N= 2 A
L= 0.540 m N= 4 A
L= 1.010 m N= 2 A
XL=  6.080 m (146471)

1.5 SmERALER+4

L:

1.6 iz B #h#t

L=

( o —/SSE%M )

2.60 + 14. 44 + 2.8 + 14. 69

(=X af%ER)

34.6 m

6.7 kg

35.1m

34.6m



8. FHEEMT ( H—KLr—n )  ( Gr-C-2B-5 )

8.1 LR
#iE 15140
CHEBHE3E R 14917 228
S T
@ {
< <
<
3 2
CHEBH3ES 14330 810

CTtean W=l
L= 14.917 +  14.330 = 29.2m



9. XA&T

9.1 TLXXR

1 AL - EEM

2) A2 - aJEhH

3580mm

3580mm

9.2 Bhed7 o h—%E

1) Al - [EEM]

W=

2) A2 - AEHA]

w:

9.3 AT

1) Al - [& &R

W= (

2) A2 - wJEhH

W= (

18. 65

10. 88

3.700

3. 700

( CR+1xA7F7 A )

X 150mm X 33mm
X 150mm X 33mm
( S35CN )

F55D L= 1010

X 1.010 X 4
M42D L= 880

X 0.880 X 4
( SD345 - D10X50X50

X 6 + 0. 250

X 6 + 0. 250

mm

mm

)

X

X

N= 1 &

N= 1 #

N= 4 K
75.3 kg

N= 4K
38.3 kg
75 ) X 0.560 X 1

= 22.9 kg

75 ) X 0.560 X 1

= 22.9 kg



9.4 BEELAZNL

1 AL - [EER

v=(
+

2) A2 - ATENA

v=(
+

3.710
3. 740

3.710
3.740

9.5 7h—HELEZL

1 AL - [EER

v=(

2) A2 - ATENA

v=(

/4
- /4

/4
- /4

( EHEELHX L)

0.280 X
0.310 X

0.280 X
0.310 X

( MEIHEE L& L

( $175%X650 )

X
X

0.1752 X
0.055 % X

( ¢ 150%X520 )

X
X

0.150 2 X
0.042 % X

)

. 030
.035 )

. 030

.035 )

. 620
.520 )

. 490
.390 )

X

X

X

X

0.072 m’

0.072 m’

0.055 m

0.032 m’



10. e ( MEsH# )

10. 1 {RfEEE

1) AL

( CR + SS400 )

s TAVaAfrh— 20/ (FHiEH)

2) A4l

AV aAr h— 35 (EE)

- AAVaArb— 35/ (HEEHA)

10.2 >—)L#f

1) Al
¢ 20mm X 30mm

V=0.020

2) A2
+ 20mm X 30mm

V= 0.020

(vVarvik)

X 0,030 X 1.200

X 0.030 X 0.600

2.600 m

3.215m

0.825 m

1.200 m

1000

0.600 m

1000

0.72 0

0.36 0



10.3 #&¥fTa > U—F
1) AL

V= 2.600 X  0.500

+ 1.300 X  0.350

+ 1.300 X  0.350

= 0.248 m’

V= 3.200 X 0. 500
+ 1.300 X 0. 350
+ 1.300 X 0. 350
+ 0.600 X 0. 350
+ 0.810 X 0. 350
+ 0.810 X 0. 400

= 0.384 m®

10.4 7oh—H ( SD345 )
1) AR
AL+ D16 X 590
W= 1.560 X 0. 590
A2+ D16 X 590
W= 1.560 X 0. 590
D16 X 280

W= 1.560 X 0. 280

2)  FEETA

IS { e i

X

( ock= 30 N/mm* )

. 100
. 110

. 130

. 100
. 110
. 130
. 149
. 149

. 100

15

15

18

18

.100 )
.130 )

.149 )

.100 )
J130 )
J149 )
J149 )
J149 )

.100 )

13.8 kg

16. 6 kg

1.7 kg
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THER = AR
= K ™
#54068
3| IEmEX
1# L5 50 TR
§00_ 1300 _ 1300 _600
HEEDE
#wEaL LY —b
=100
v320. 754 V320, 734 v320.715
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(X5 Ry hHimE) hs ‘ LEVEL (X5 <y FETE
|
= Sg = ‘ 2Es
g 2| S gl S| 3
= & gl < & =
|
v314.034 ‘ V314,034
S 71 g
= v312.834 g ! v3i2.84  ©
o . - 3 o
& - —s
3800
i 00
BEFE®EE
i TRl
3800
/45~y k6001300 1300 600
B D4R
- |
gl Sl |
L8R T N
v320. 101 L mj v320. 101
v320.091 &l e |4 v320. 091
v320.074 ) - v320.074
TR W E FUn—HRIL FERE
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HHEEX

(Fix)

Ll 3800 TRl
6001300 __ 1300 600
B O ER
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=100
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|
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2 o e
g ‘
|
V314,034 ‘ V314,034
T
8 s| | 8
g 8 g
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3800
i 700
JEE b - E X
ot T ARl
3800
o
2
&
5
B o
<
o
3

b7 T ]

GERRHID)

N
2940_ggp
1400
500 900
30|
®TBa05Y—F o700 w320, 101
=100
g [, V320001
v320.732 v320.734
V3200714 8
3.0%
e
g g
g g 8
2600 1200 | 1500
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° -
I I
of ) v312.83 v312.834 —
5500
60 6o
THIHESR
Ca)
MBS Fix) SIE
R2 oL L2
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HEE 0. 1467 0.1272 0.1077
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X X X X X

X X X X X

(

1. = 7U—h ( o ck=24N/mm*)
a) & iRk
V= 5.500
b) B2 BE
V1= 0.900
V2= 0.500
c) 73Tk
(IE ifi i fE)
al= 0.600
a2= 1.300
a3= 1.300
a4= 0.600
% as= (5) 2.600
(15 i i F)
al= 0.600
a2= 1.300
a3= 1.300
ad= 0.600
e ab= () 2.600
V= 1/2 X
ar 7Y —hEG (m®
ey
JEERR 25.08
EXEE 32.23
INT Iy 1.07
At 58.38
2. 7 (—R)
a) JEE iR
A= ( 5.500

+

AlBB

(B e 1)

3.800 X 1.200

3.800 X 1/2 X (  6.040
3.800 X 6.067

/2 X ( 0.653 +  0.653
/2 X ( 0.653 +  0.633
/2 X (  0.633 + 0.614
/2 X (  0.614 +  0.614
0.100

/2 X (  0.651 +  0.651
/2 X (  0.651 +  0.631
/2 X (  0.631 + 0612
/2 x (0612 + 0612
0.100

m2 rnz

2.147 + 2,139 ) X 0.500
I i o 1 T AR

3.800 ) X  1.200 X 2

— — — —

— — — —

+

6.067

)

= 25.08 m°

> vl = 25.08 m°
= 20.70 m°

= 1153 m’

> v2 = 32.23  m°
= 0.392 m?

= 0.836 m®

= 0811 m®

= 0.368 m®

= -0.260 m?

Ya = 2.147  m®

= 0.391 m®

= 0.833 m®

= 0.808 m®

= 0.367 m®

= -0.260 m®

Sa = 2139 m®

= 1.07  m®

> v3 = 1.07 m®
= 2232 m®

Y al = 2232 m®



b) B HE

FiHE Al= 3.800 X (  6.040 +  6.067
FEihi A2= { 0.900 X 1/2 X ( 6.040
c) /XTyk
mZ mz
FiSH Al= 2.147 + 2.139
FHfffaky A5 fmiEak
FEm A2= 0.500 X /2 X (  0.653
” A3= 0.500 X 0.100 X 2
FEm Ad= 0.500 X /2 X (0614
TG (m®
ey
9 22.32
EXEE 62.97
2N 5.03
a5 90.32
3. HLarzy—p ( ¢ cK=18N/mm?, t=10cm )
A= 5.700 X 4.000
m?
V= 22.80 X 0.100
4. a7 — AP
A= ( 5.700 + 4000 ) X  0.100
5. ¥ bars)—h
EER TS TR B A
6. $kfH (SD345, —fktEE) )
(ke)
7 A AR % 3
D25 1099
D22
D19 320
D16 1109 2528
D13 216 216
Rl 2744 2744
7. 25T ( FREATRME RS, H=30m )
A= ( 3.600 + 6.000 ) X  6.700

)

+

+

+

6.067
0.500

0.651

0.612

)

)

)

X

6.067 }

= 46.01 m®
X 2 = 16.96 m’
> a2 = 62.97 m®
= 429 m°
= 033 m’
= 0.10 m?
= 031 m’
> a3 = 5.03 m’
= 22.80 m®
= 228 m®
= 1.94 m?
= 64.3  Hm?®



8. T I—RIV MR E (¢175)

= 0.620 m
n= 4 B
L 0.620 X 4

= 2.48
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12 oL R2
HES 320. 7889 320. 8084 320. 8279
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1. 37—k

a) I Ji

o
17
E

V1=

c) /NFwh

(IF i i)
al=
a2=
ad3=
ad=

e ab=

(75 i i FED)
al=
a2=
ad=
ad=

e ab=

d) TR TERL

Vi=

V=

( o ck=24N/mm*)

)

)

3.500

0.900
0.500

0.600
1.300
1.300
0.600
3.200

0.600
1.300
1.300
0.600
3.200

1/2

0.900

0.500

X X X X X

X X X X X

X

X

A2f& B

(B e 1)

3.800 X 1.000

3.800 X 1/2 X (  3.936
3.800 X 3.963

/2 X (0618 + 0618
/2 x (0618 +  0.637
/2 X ( 0.637 +  0.657
/2 X (  0.657 +  0.657
0.100

/2 X (  0.621 +  0.621
/2 x (  0.621 + 0.640
/2 X ( 0.640 +  0.660
/2 X (  0.660 +  0.660
0.100

m2 mZ

2.102 + 2,114 ) X 0.500
I i o 1 T AR

0.420 X 1/2 X { 1/2

+ 0 1/2
0.420 X 1/2 % { 1/2
+ 0 1/2

— — — —

— — — —

X X X X

+

3.963

0.500
0.920
1.145
1.565

)

= 13.30  m®

> vl = 13.30  m®

= 1351 m°

= 753 m°

> v2 = 21.04 m°

= 0.371 m?

= 0.816 m®

= 0.841 m®

= 0.394 m®

= -0.320 m?

Ya = 2.102  m®

= 0.373 m®

= 0.820 m®

= 0.845 m®

= 0.396 m®

= -0.320 m?

Ya = 2.114  m®

= 1.05 m®

> v3 = 1.05 m®
+ 0 0.527 )

+ 0947 ) = 027 m’
+ 1.148 )

+ 1568 )} = 028 m’

> v4 = 0.55 m°



e) byimATERL

Vi= /2 X (  0.670 + 0.651 ) X  0.400
X 1/2 X (0673 + 0657 ) = 0.18
V2= 0.430 X 1/2 X { 0.670 X 1/2 X (  0.500 + 0520 )
+  0.650 X 1/2 X (  0.930 + 0950 ) = 0.20
V3= 0.500 X 0.430 X 1/2 0 X A /2 x (1177 +  1.180 )
+ /2 X (  1.607 + 1610 ) = 0.30
PR V4= () /2 x (  0.670 + 0.651 ) X  0.400 X 0.100 = -0.03
noVe= () 0.500 X 0.430 X 0.100 = -0.02
> V5 = 0.63
2vd~vH = 1.18
a7 —MEGH (m’
ey
JEEAR 13.30
EXEE 21.04
V2SN 1.05
HikRL 1.18
s 36.57
AR (— AP )
a) JEE iR
A= ( 3.500 +  3.800 ) X  1.000 X 2 = 14.60
Y al = 14.60
b) B2 B
ESHE Al= 3.800 X (  3.936 + 3963 ) = 30.02
FH A2= 1.400 X (  3.016 + 3.013 ) = 8.44
S a2 = 38.46
c) /XTyh
m2 m2
EH Al= 2.102 + 2114 = 4.22
i EEaL) i E ek
Fh A2= 0.500 X 0.100 = 0.05
T a3 = 4.27
d) FURMHRERL
S Al= 0.900 X 1/2 X (  0.500 + 0 0.527 )
+ 0.500 X 1/2 X ( 1.145 + 1148 ) = 1.04 m?
n A2= 1.400 X 0.594 = 0.83 m?
FEH A3= 0.420 X { 0.618 + /2 X (0500 + 0920 )} = 0.56 m?
” Ad= 0.420 X 1/2 X ( 1.148 + 1568 ) = 0.57 m?
S a4 = 3.00 m?



e) bymATERL

SMEL Al= 0.670 X /72 X ( 1.173 +
+ 0.500 X 1/2 X (1177 +
noA2= /2 X ( 1.170 + 1150 ) X
Pl A3= 0.651 X { /2 X (  0.673 +
FH  Ad= 0.400 X (  0.673 - 0.100 ) +
+0.430 X
n o Ab= 0.430 X { /2 % ( 1.180 +
TUPLAE G (m®
ey
JEEAR 14.60
EXEE 38.46
2SI 4.27
HikRL 6.45
s 63.78
3. BLarzy—h ( o cK=18N/mm?, t=10cm )
A= 3.700 X 4.000
m2
V= 14.80 X 0.100
4. a7 — AP
A= ( 3.700 +4.000 ) X 0.100 X
5. % THarsy—hk
EER TS TR B A
6. k% (SD345, —fEtEEY )
(kg)
& ZNIREN £ FF
D25
D22
D19
D16 989 989
D13 357 357
a5 1346 1346
7. 25T ( FHESATRIRSLEY;, H=30m )
A= ( 3.420 + 0 0.430 +0.200

+  6.420 +

1.177
1.180
0.608
0.657
0.030
1/2
1.610

3.600

- X X —

—~ o~

+

1.170

0.100
0.657
0.500
0.100

6.850

)

X 0.100 = 1.26 m’
= 0.71 m2

= 0.37 m’

- 0.100 )

+ 0.930 ) = 0.55 m’
= 0.56 m2

Y ab = 3.45 m’
Yad~ab = 6.45 m®
= 14.80 m®

= 1.48 m3

= 1.54 m’
X 4.600 = 96.2 }ﬁmQ



8. XL

a) i MIHTERL ST HHR—R, HA.0m, SCEATHFI40kN/m’LLF)
V= 1.2y 7U—hd) FHMAHFEL Sva XD
mii
P t= 0.55 / (  1.400 X
m kN/m*
LRI w= 0.94 X 24.5
HJEER  h= /2 X ( 3.436 +
V= 1.400 X 0.420 X ( 3.436 + 3.016 )
b )_LHATRER L (AT HR—F, H4.0m, AR /740kN/m* A T)
V= 1.7 —h e) EFAIMTERL Svb Kb
mS
R = 0.63 / { /2 % ( + 1150 ) X 0.430 }
m kN/m”®
TR w= 1.26 X 24.5
EHRRE RS h= /2 X ( 3.443 +
V= 0.430 X 1/2 X ( X 3.443 +  1.150
FAR TR
R E S AR it ) THRUAKTRRL | ERIHTERL
P 7HR—N  H<.om  [40kN/miBLF 1.9 1.6
9. TUH—RILV R E ($150)
= 0.490 m
n= 4 & AT
L= 0.490 X 4

0.55

0.94

23.03

3.23

1.9

0.63

30.87

3.23

1.96

H
8



1. 37—k

a) FHBUHTREL

( o ck=24N/mm?*)

2.7 f

V1= 0.400 X 0.680
V2= 0.400 X 0.220
o) —hERE (m’

B
HibEL 0.16
ast 0.16

(— M)

a) TURUHTREL

Al= 0.680 X 1/2 X
A2= 0.220 X 1/2 X
Fifi  A3= 0.400 X 0.203
TR (m?
ey
HiEL 0.50
s 0.50
3. BHAS (t=20mm )
Al= 0.680 X 1/2 X
A2= 0.220 X 1/2 X
4. $& (SD345, —fEeAiEEd )
(kg)
s A K % 3
D25
D22
D19
D16
D13 2
Rl 2

X

(
(

—~ o~

A2fg &

0.11
0.05

0.16

0.28
0.14
0.08

0.50

0.28
0.14

(BB Tt 1)
/2 x ( 0.203 + 0 0.623 )
/2 x ( 0.623 + 0.618 )
> vl
0.203 + 0 0.623 )
0.623 + 0618 )
> al
0.203 + 0 0.623 )
0.623 + 0618 )
A

0.42
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L. PRAED

a) A —7PRHIB

© Afl, +

@ BfEik, +ip

@ BfE, W 1

2. L

3. 7%t

R 1

ER 2

m
Vi= 55.84 ( 3.800 1/2 +  1.170
mz
V2= 55.84 X 3.800
mz
V3= 55.84 ( 3.740 1/2 +  1.170
mz
Vi= 4.48 ( 0.350 1/2 + 0.820
mz
V2= 4.48 X 3.800
mz
V3= 4.48 ( 0.350 1/2 + 0.820
mZ
V1= 7.37 ( 0.320 1/2 + 0.500
mZ
V2= 7.37 X 3.800
mZ
V3= 7.37 ( 0.320 1/2 + 0.500
(e KRR ERR 4mPA Lk, +Hb )
mZ
V1= 63.15 X ( 4.470 1/2 + 0.500
mZ
V2= 48.08 X 3.800
mZ
V3= 63.15 X ( 4.410 1/2 + 0.500
1’1’13 1"1’13
vl= 526.2 - 37.8 1.1
L& Bﬁ?ﬁ?y ERTY A4
1’1’13 m3 1’1’13
V2= 482.7 ( 553.4 26.0 ) X 0.90
AREIK D BRIk -1 TRERELR
A2 0 Y
1’1’13
V= 38.8 X 1 0.90

ALBE

171.4

212.2

169.8

zV

553.4

4.5

zV

4.9

28.0

4.9

zV

172.7

182.7

170.8

zV

526.2

482.7

-38.8

43.1



4. FEHEEIE

5.700

X 4.000
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L. PRAED

a ) B0 R IRHI

© Afl, +

Vi=

AHEEERR V2=

© Bk, -1

V=

@ Bk, #E T

V=

@ B, WOE T

()

22.76

0.20

1.04

0.26

1.13

3.17

8.400

0.050

8.400

8.400

8.400

8.400

8.400

8.400

A2fBE

-1.3

zV

49.1

191.2

zV

191.2

1.7

zV

1.7

8.7

zV

8.7

2.2

zV

2.2

9.5

zV

9.5

zV



2. MRL

3. &t

HWOE T

HWOE 1

+H

4. SLrHEIE

(R RHLERNE 1mEA B AmAS, /D)

2

-7.8

m
V1= 24.59 X 2.300
mz
V2= 15.05 X 3.800
mz
V3= 24.59 X 2.300
mz
Vi=  (5) 22.38 X 0.350
1’1’13 In3 1’1’13
vl= 162.6 - ( 8.7 + 26.6 ) X 1.20
ML A& GFEABERIG I EXCHEICE T L RALR
AR Y
mli m3 mli
v2= 120.2 - ( 1.7 + 95 ) X 1.15
UTTRBRURECH  UIERCHBH | AL
AR Y
mli m3 mli m3
v3= 107.3 - ( 49.1 + 191.2 + 2.2
O AR LY EIENE BIEACTH
BT LY LA LY TWAEFS LY
m2
- 3.86
1’1’13
V= 81.8 X 1 / 0.90
A= 3.700 X 4.000

zV

0.90

162.6

120.2

107.3

—-81.8

14.8
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L. PRAED

a) A —7 U HRHIER

O AR, THb

N

2. HRL

Vi=

V=

V3=

V4=

Vb=

V6=

V7=

a) Fe RHEBENE 1mPL_E4mAs

N

3.7kt

Vi=

V2=

V3=

V4=

Vb=

V6=

V7=

Al=
A2=
A3=
Ad=
Ab=
A6=
AT=

m
/2 X ( 4.00
mZ
3.90 X 3.400
m2
/2 X ( 3.90
m2
1/2 X 4.20
m2
1/2 X 5.00
mZ
5.00 X 2.680
m2
/2 x ( 5.00
(+w)
m2
/2 X ( 1.60
1’1’12
1.60 X 3.400
m2
/2 X ( 1.60
m2
1/2 X 1.60
m2
1/2 X 1.60
1’1’12
1.60 X 2.680
m2
/2 X ( 1.60
1’1'13 1"1’13
63.0 - 22.6
FRER= HEL L&
/2 X ( 3.500
3.500 X 3.400
/2 X ( 3.500
1/2 X 3.400
1/2 X 4.600
4.600 X 2.680
/2 % ( 4.600

EREW #F I LT

m

+ 3.90
mZ

+ 4.20

X 0.100

X 2.250
mZ

+ 5.30
1’1’12

+ 1.60
1’1’12

+ 1.60

X 0.100

X 2.250
1’1’12

+ 1.60

X 1

+ 3.500

+ 3.400
0.100

X 2.250

+ 4.600

X

X

X

X

X

2.400

1.990

2.500

2.400

1.990

2.500

0.90

2.400

1.990

2.500

9.5

8.1

0.2

5.6

zV

3.8

5.4

3.2

0.1

1.8

4.3

4.0

zV

8.4
11.9
6.9
0.2
5.2
12.3
11.5

B B B B B B 8

X}

X}

[

X}

[

X}

[

ZA

8

X}



1. IR#ED

a) A —7 U ARHIED
O AfiElsk, +-wb

m
V1= 7.00 X 0.410
mZ
E R A Vo= 1.30 X 4.200
mZ
n V3= 1.30 X 3.500
mZ
V4= 6.30 X 1.100
2. L ()
a) I MR 1mPL_EAmA
mZ
Vi= 1.60 X 0.410
mZ
BEREHME Vo= 1.00 X 4.200
mZ
n V3= 1.00 X 3.500
mZ
V4= 1.70 X 1.100
3. 5%+
1’1’13 mS
V= 19.9 - 10.3
A HREL 46
4. JLH%EIE
Al= 4.600 X 0.410
A2= 4.900 X 1.100

HEW #FEILT

X 1 / 0.90

2.9

5.5

4.6

6.9

zV

19.9

0.7

4.2

3.5

1.9

zV

8.5

1.9
5.4

ZA

7.3
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